CHEMISTRY

BOOKS - CENGAGE CHEMISTRY

CHEMICAL ARITHMETIC

Worked Example

1. Calcultae the relative mass of the compound:

sulphuric acid H2504

° View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XdsTQuFzNAHW

2. Calcultae the relative mass of the compound:

Ammonia : NH;

o View Text Solution

3. Calcultae the relative mass of the compound:

Hydrated ferrous suplhate: FeSOy4. TH,O

O View Text Solution

4. Calculate the mass precentage composition of
magnesium sulphate [given the atomic masses

Mg =24,5 = 32 and O = 16]

o View Text Solution



https://dl.doubtnut.com/l/_fsjuEzuFsiFi
https://dl.doubtnut.com/l/_VvIBRieaE2IW
https://dl.doubtnut.com/l/_mRixKF01ZfWk

5. Find the mass percentage of watr of hydration in blue
vitrio  (CuSOy, 5H50). [Given the atomic masses,

Cu =63.6,5S=32,H =1, and O = 16]

° View Text Solution

6. Find the percentage of carbon dioxide by mass in
calcuim crbonate [Give the atomic masses, Ca = 40, C = 12

and O =16]

° View Text Solution



https://dl.doubtnut.com/l/_mRixKF01ZfWk
https://dl.doubtnut.com/l/_tEU6Ny3a0irP
https://dl.doubtnut.com/l/_WO51wxeB6FHt

7. Molecular formula of acetic acid is CH3COOH.
Calculate its percentage composition by mass [ Given the

atomic masses,C' = 12, H = 1, and O = 16]

o View Text Solution

Mandatory Exercise Exercise Set |

1.In MnQO,, valency of Mn is

A2

B.1

C.4

D.6


https://dl.doubtnut.com/l/_KywcFNZnCuVa
https://dl.doubtnut.com/l/_K36EBPbRraWI

Answer: C

o View Text Solution

2. Formula of a metallic sulphide is M,S. The valency of

the metal 'M' is

Al

B. 2

C.4

D. none

Answer: A

O View Text Solution



https://dl.doubtnut.com/l/_K36EBPbRraWI
https://dl.doubtnut.com/l/_WXunJ0UZ2NVD

3. The formula of a metal chloride is MCl;. The formula
of its phosphate is

A. MyPO,

B. M3 PO,

C. M(POy,),

D. MPO,

Answer: D

° View Text Solution

4. Find the valency of M (element) in compound

MCl;

[ = !


https://dl.doubtnut.com/l/_JJcFAG80nvx7
https://dl.doubtnut.com/l/_uuLyD5VJ7eBc

l @ View Text Solution

5. Find the valency of M (element) in compound

MCl,

O View Text Solution

6. Find the valency of M (element) in compound

M,04

o View Text Solution

7.Find the valency of M (element) in compound

M,0s



https://dl.doubtnut.com/l/_uuLyD5VJ7eBc
https://dl.doubtnut.com/l/_lM7dr4CGv6eN
https://dl.doubtnut.com/l/_OYpiz2thEtt6
https://dl.doubtnut.com/l/_EJKxIeKEkP4S

l o View Text Solution

8. Find the valency of M (element) in compound

M N5

o View Text Solution

9. Find the valency of M (element) in compound

M;P

o View Text Solution

10. Find the valency of M (element) in compound

M,0



https://dl.doubtnut.com/l/_EJKxIeKEkP4S
https://dl.doubtnut.com/l/_4WbDcoM0tqU2
https://dl.doubtnut.com/l/_Ai2ZkQjVrb22
https://dl.doubtnut.com/l/_9pt7me8j77EA

I o View Text Solution

11. Find the valency of M (element) in compound

MO

O View Text Solution

12. Find the valency of M (element) in compound

MCO;

o View Text Solution

13. Find the valency of M (element) in compound

MHCO;4



https://dl.doubtnut.com/l/_9pt7me8j77EA
https://dl.doubtnut.com/l/_5JPqQQsdW1mq
https://dl.doubtnut.com/l/_zWYEh9sse7qz
https://dl.doubtnut.com/l/_20okM0bCmrdk

I o View Text Solution

14. Write the formula of each of the compound.

Magnesium Chloride

o View Text Solution

15. Write the formula of each of the compound.

Ferric oxide

o View Text Solution

16. Write the formula of each of the compound.

Ammonium Hydroxide



https://dl.doubtnut.com/l/_20okM0bCmrdk
https://dl.doubtnut.com/l/_6EIlKpEy2VY6
https://dl.doubtnut.com/l/_NHOH8VVlyUf2
https://dl.doubtnut.com/l/_ICwNsqZjx7vM

I o View Text Solution

17. Write the formula of each of the compound.

Phosphorous pentoxide

o View Text Solution

18. Write the formula of each of the compound.

Sodium Bicarbonate

o View Text Solution

Mandatory Exercise Exercise Set li


https://dl.doubtnut.com/l/_ICwNsqZjx7vM
https://dl.doubtnut.com/l/_ibRMcLfkOBgh
https://dl.doubtnut.com/l/_juqRQAS7crUB

1. Find the oxidation number of N in the compound:

NH,

° View Text Solution

2. Find the oxidation number of N in the compound:

NHS

o View Text Solution

3. Find the oxidation number of N in the compound:

NH,CI

o View Text Solution



https://dl.doubtnut.com/l/_XkOapSH63psa
https://dl.doubtnut.com/l/_fPcXXYpzsXST
https://dl.doubtnut.com/l/_NkRGB36mZ2wx

4. Find the oxidation number of N in the compound:

NCLN02

o View Text Solution

5. Find the oxidation number of N in the compound:

NH,NO,

O View Text Solution

6. Determine the oxidation number of the underlined

elements in the following

SiH,, BHy, $,03 ", HPO; ™, FeOy, K,0

o View Text Solution



https://dl.doubtnut.com/l/_8MXAsPN9KhOK
https://dl.doubtnut.com/l/_4ME2EGvvQmf0
https://dl.doubtnut.com/l/_F7Lcr20vO7at

7. Calculate the valency and oxidation number of C in the

following compounds:

CH,CH3;0H,CH,0, HCOOH, C,H,, CyH,

o View Text Solution

8. Which of these can have both positive as well as

negative oxidation states ?

A. Na

B.F

C.Fe

D.H


https://dl.doubtnut.com/l/_F7Lcr20vO7at
https://dl.doubtnut.com/l/_uwrpzuQWCxhz
https://dl.doubtnut.com/l/_UQPnAHOPq7Md

Answer: D

o View Text Solution

9. The oxidation number of iron in Fey(CO), is

A +1
B.9
C.+9

D.0

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_UQPnAHOPq7Md
https://dl.doubtnut.com/l/_TaCF0gyLBl3U
https://dl.doubtnut.com/l/_8GZb0LkJ9uHB

10. the oxidation number of carbon in CN ~ is

A +1

B.O

D. +2

Answer: D

° View Text Solution

11. The oxidation number of P in P, molecule is

A +4

B.4


https://dl.doubtnut.com/l/_8GZb0LkJ9uHB
https://dl.doubtnut.com/l/_BZCkDlHSR9Zf

C.0

D. +2

Answer: C

o View Text Solution

12. In which of the following compounds, Cr has minimum
oxidation number

A. K2C’I"O

B. CTOQCZQ

C.Cr(CO),

D. C’I“Clg


https://dl.doubtnut.com/l/_BZCkDlHSR9Zf
https://dl.doubtnut.com/l/_NmGli9fdAB7G

Answer: C

o View Text Solution

13. The oxidation state of which element is constant in all

its compounds ?

AH

B.O

C.N

D.F

Answer: D

O View Text Solution



https://dl.doubtnut.com/l/_NmGli9fdAB7G
https://dl.doubtnut.com/l/_aubPlgi1uxRq

14. The oxidation number and valency of S in Sy is

AO

B.2

C.0and 2

D.2and O

Answer: A

° View Text Solution

15. Nirogen has fractional oxidation number in

A N,H,


https://dl.doubtnut.com/l/_tJvWfyhI2xCD
https://dl.doubtnut.com/l/_9i40O7d9Zr3g

B.NH,
C.HN;

D. N, F,

Answer: C

o View Text Solution

16. Oxidation number of sodium in sodium amalgam is

A +2

B.+1

C.2

D.O


https://dl.doubtnut.com/l/_9i40O7d9Zr3g
https://dl.doubtnut.com/l/_yw2VXoafPwvC

Answer: D

o View Text Solution

17. A compound contains atoms of three elements A, B, and
C with following oxidation number
A= +2, B= +5, and C' = — 2. Possible formula of
the compound is

A. Ay(BCs),

B. A3(BCy),

C. A3(B,C),

D. ABC),

Answer: B


https://dl.doubtnut.com/l/_yw2VXoafPwvC
https://dl.doubtnut.com/l/_AbKui32QndIz

o View Text Solution

18. What is the oxidation number of tungsten in the ion
WeO0sC3, ?

A 2.7

B.3.3

C.3.7

D.4.3

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_AbKui32QndIz
https://dl.doubtnut.com/l/_hMT6nktq0QLN

19. Which quantities are conserved in all

Reduction reaction ?

A. Charge only

B. Mass only

C. Both charge and mass

D. None

Answer: C

oxidation

o View Text Solution

20. Oxidation state of sulphur in NayS540s is

A2


https://dl.doubtnut.com/l/_pJoc6XH0xCiw
https://dl.doubtnut.com/l/_ART6ZxjsY1yl

B.O

C.2.5

D. 3.5

Answer: C

o View Text Solution

21. Oxidation number of S in caro's acid is

A +6

B. +4

C.+8

D.+7


https://dl.doubtnut.com/l/_ART6ZxjsY1yl
https://dl.doubtnut.com/l/_3QPF2FzBhG4u

Answer: A

o View Text Solution

22. The oxidation state of Cr in Chromium trioxide is

A +3

B.+4

C.+5

D.+6

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_3QPF2FzBhG4u
https://dl.doubtnut.com/l/_5b6VII8rkT6d
https://dl.doubtnut.com/l/_H2BDZqleOd8h

23. The oxidation states of lodine in HIOs and HsIOg

are respectively.

A+1, +3, +7

B.+7, +7, +3

CHT7, +7, +7

D.4+7, +5, +3

Answer: C

o View Text Solution

24. Oxidation states of xyz are +2, +5, and — 2
respectively. Formula of the compound formed by these

will be.


https://dl.doubtnut.com/l/_H2BDZqleOd8h
https://dl.doubtnut.com/l/_9NsLwBVArWlO

A ToYyzg

B. xys 24

C.zys

D. x3yz4

Answer: B

o View Text Solution

25. In which of the following compounds, the oxidation

number of lodine is fractional ?

A IF;

B. I F


https://dl.doubtnut.com/l/_9NsLwBVArWlO
https://dl.doubtnut.com/l/_uVt9N1G0O2nX

C.I;

D. IF;

Answer: C

o View Text Solution

26. When K,Cry0; is converted into K,CrQ,, the

change in oxidation number of chromium is

A.O

B.5

C.7

D.9


https://dl.doubtnut.com/l/_uVt9N1G0O2nX
https://dl.doubtnut.com/l/_D2cIDMkuytMb

Answer: A

o View Text Solution

27.The oxidation state of I in IPQy, is

A +2

B. +3

C.+5

D.+7

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_D2cIDMkuytMb
https://dl.doubtnut.com/l/_NaAWI5wgUe6N
https://dl.doubtnut.com/l/_snJcd16TgxeB

28. Which of the oxidation state is not possible for oxygen

?

D.+3

Answer: D

o View Text Solution

29. What is the oxidation state of P in Ba(H;POs),

A +1


https://dl.doubtnut.com/l/_snJcd16TgxeB
https://dl.doubtnut.com/l/_dAdSC1sYGyKr

B. +2

C.+3

Answer: A

° View Text Solution

30. Arrange the following in increasing order oxidation

number of Mn

A. MnO

B. M’I’LOQ

C. KM’I’LO4


https://dl.doubtnut.com/l/_dAdSC1sYGyKr
https://dl.doubtnut.com/l/_LGmrZ2HbVYhV

D. K2M7’LO4

Answer: B

O View Text Solution

31. In which of the following oxygen shows -1 oxidation

state ?

A.CO,

B. H2O2

C. H,O

D. OF,

Answer: B

f 1


https://dl.doubtnut.com/l/_LGmrZ2HbVYhV
https://dl.doubtnut.com/l/_7sFK7xp3Pglx

I o View Text Solution

Mandatory Exercise Exercise Set lii

1. Calculate the relative molecular mass of the substance:

Cly

° View Text Solution

2. Calculate the percentage composition by mass of

propanoic acid, C's HgO3 and phenol, CeH;OH.

o View Text Solution



https://dl.doubtnut.com/l/_7sFK7xp3Pglx
https://dl.doubtnut.com/l/_GB6qIa7kA8Eu
https://dl.doubtnut.com/l/_JA7MpU7MeFNz

3. Calculate the molecular/formula mass of each of the

substances, given the unit in each case:

A. Sodium carbonate decahydate, Na;CO3. 10H;O

B. Glucose ,C's H150¢

C. 1-bromobutane, CyHyBr

D. Argon, Ar

Answer: A::B::C::D

o View Text Solution

4. Calculate the mass percent composition of each of the

substance:


https://dl.doubtnut.com/l/_gF8NOj9Klgqd
https://dl.doubtnut.com/l/_dNqxCkexhutT

Sulphuric acid, H, S0,

° View Text Solution

5. Calculate the mass percent composition of each of the
substance:

Potassium permanganate, KmnQ,

o View Text Solution

6. Calculate the mass percent composition of each of the
substance:

Glucoce,CsH1504

o View Text Solution



https://dl.doubtnut.com/l/_dNqxCkexhutT
https://dl.doubtnut.com/l/_8H5bBBq4R5HL
https://dl.doubtnut.com/l/_APlupa1rBCsJ

7. Calculate the mass percent composition of each of the
substance:

Urea, CN;N,O

o View Text Solution

8. If a sample of copper contains 69.1 % of 63 Cu of
isotopic mass 62.930 u and 30.9 % of%°Cu of isotopic
mass 64.298u. Calculate the relative atomic mass of

copper.

o View Text Solution



https://dl.doubtnut.com/l/_Ch4zstlfyyyN
https://dl.doubtnut.com/l/_ueb0CuOAXiJh

9. The percentage of water of crystallisation in washing
soda
NCI,QCOg. ]_OHQO[NG, = 23, C = 12, O = 16, H = ].] is
A.62.92 %
B. 50 %

C.75%

D.90 %

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_nTihFvxUDiPZ

10. What is the mass percent of oxygen in
Aly(S0y),. 18H,0?
(Give molar mass of Aly(S0y),. 18H,0 = 666.439m0l)
A.9.60
B. 28.8

C.43.2

D. 72.0

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_C6u0EE8pY7NF

11. The oxidation state of Xe in XeOF,, XeF,; and XeO,

is

o View Text Solution

12. What is the relation between atomic mass and number

of nucleon ?

O View Text Solution

13. Write the atomic mass, atomic weight and relative

atomic mass of calcium

o View Text Solution



https://dl.doubtnut.com/l/_wxRmba3fYbmf
https://dl.doubtnut.com/l/_hTFoRBZMp2yD
https://dl.doubtnut.com/l/_qa3h1bb5hRTV

14. Calculate the no. of atoms of He in 56 amu of He simple.

o View Text Solution

15. What is meant by 1 g atom of Na ?

° View Text Solution

16. Express the relation between atomic mass and gram

atomic weight ?

o View Text Solution

17. Calculate the % mass of Cin HyCy0,2H,0


https://dl.doubtnut.com/l/_1SXfbWstdAVj
https://dl.doubtnut.com/l/_2G6fJvjZbWoy
https://dl.doubtnut.com/l/_onEnyazm2yo7
https://dl.doubtnut.com/l/_u8F6Ff932w24

o View Text Solution

18. Calculate of % mass of H,O in MgS0O,.7TH,0O sample.

° View Text Solution

19. Calcualte the weight of H,O present in 100 g sample of

MgSO4 7H2O

o View Text Solution

20. If two compounds have same Empirical form then mass
percentage of both compound will be same justify the

statement.


https://dl.doubtnut.com/l/_u8F6Ff932w24
https://dl.doubtnut.com/l/_d5ZdTyjhTSN6
https://dl.doubtnut.com/l/_OZG1ZZaaHu1e
https://dl.doubtnut.com/l/_fIozdgUu1x8V

o View Text Solution

21.1If mass % of N in an organic compound is 7% then

minimum molar mass of compound will be ?

o View Text Solution

22. Calculate the mass % of NH,® in (NH,),CryO

(ammonium dichromate)

o View Text Solution

23. Calculate the mass % of C in first member of alkane and

alkene homologous serise.


https://dl.doubtnut.com/l/_fIozdgUu1x8V
https://dl.doubtnut.com/l/_s6U0DHKR7AKV
https://dl.doubtnut.com/l/_Hlmt0HJvX8sM
https://dl.doubtnut.com/l/_7NwoLE4MOa6a

o View Text Solution

24. Calculate the mass % of C in carbon suboxide.

° View Text Solution

25. Calculate the percentage of carbonate ion in

NayCO3 and NaHCOs;.

° View Text Solution

26. Calculate the mass %ofSOi_ in potash Alum

K,S0;Aly(S0j) . 24H,0.

I o View Text Solution


https://dl.doubtnut.com/l/_7NwoLE4MOa6a
https://dl.doubtnut.com/l/_PAQWxQ864Ryo
https://dl.doubtnut.com/l/_5PtrodtyGtLW
https://dl.doubtnut.com/l/_i6J05AVhj51I

27. The formula of a metal chloride is MCl; and atomic

weight of metal is . Find the molar mass of metal nitrate.

° View Text Solution

28. Among NH3,HN03,NCLN3 and MggNz the
numbers of molecules having nitrogen in negative

oxidation state is

o View Text Solution

29. The oxidation number of oxygen in KO3 and NasO,

is


https://dl.doubtnut.com/l/_i6J05AVhj51I
https://dl.doubtnut.com/l/_KEb6GhmeEAvK
https://dl.doubtnut.com/l/_AGSvCZIjAWMd
https://dl.doubtnut.com/l/_nywQpvFPByda

o View Text Solution

30. Oxidation state of Br in Bry and BrOy is

° View Text Solution

31. The difference of oxidation state of two s atoms in

H2S208 is

o View Text Solution

32.Name the monoatomic cations using the IUPAC system

of nomenclature:

Ag™


https://dl.doubtnut.com/l/_nywQpvFPByda
https://dl.doubtnut.com/l/_Ydvk3LX3jNyx
https://dl.doubtnut.com/l/_3rftbH8vfVjj
https://dl.doubtnut.com/l/_YXhwIBhWKVbF

o View Text Solution

33. Name the monoatomic cations using the IUPAC system

of nomenclature:

A’U,2+

o View Text Solution

34. Name the monoatomic cations using the IUPAC system

of nomenclature:

Ca2+

O View Text Solution



https://dl.doubtnut.com/l/_YXhwIBhWKVbF
https://dl.doubtnut.com/l/_i2XwS5pq93JJ
https://dl.doubtnut.com/l/_o2XkEmmJSe3q

35. Name the ionic compound:

LiyS

° View Text Solution

36. Name the ionic compound:

Sn02

o View Text Solution

37.Name the ionic compound:

Hg,Cl,

o View Text Solution



https://dl.doubtnut.com/l/_TVin4KLvVCc1
https://dl.doubtnut.com/l/_8jcEF4ybIEVx
https://dl.doubtnut.com/l/_n5Ol4qoxjY59

38. Name the ionic compound:

C’LLI2

° View Text Solution

39. Name the ionic compound:

CuCO;

o View Text Solution

40. Write the chemical formula for each of the compound:

Tetrasulphur dinitride

o View Text Solution



https://dl.doubtnut.com/l/_4mCUou5Odb6s
https://dl.doubtnut.com/l/_d8hbEPq2VwDH
https://dl.doubtnut.com/l/_S7wKQaRLUm2S

41. Write the chemical formula for each of the compound:

Xenon tetrafluoride

o View Text Solution

42. Write the chemical formula for each of the compound:

Dinitrogen pentasulphide

O View Text Solution

43. Write the chemical formula for each of the compound:

Tetraphosphourus hexoxide

o View Text Solution



https://dl.doubtnut.com/l/_Eobe892Naic9
https://dl.doubtnut.com/l/_7uYwMiuep369
https://dl.doubtnut.com/l/_hJK8g1EfhDJh

44. Write the chemical formula for each of the compound:

Hydrogen telluride

o View Text Solution

45. What is the name of the acid with the formula H,CO;
?Write the formulae of the two anions derived from it and

name these ions.

o View Text Solution



https://dl.doubtnut.com/l/_8TDSMSqtWT7T
https://dl.doubtnut.com/l/_7oBlYszGKXwO

46. Match the following ,

(1) Valency of P in PCI, (a) 44.86
(2) Atomic mass of lithium (b) 2.66
(3) Molecular mass of fluorine (c) 5

(4) Oxidation number of Fe in Fe,0, (d) 38.00

(5) Mass percentage of water in FeSO_7H,0 (e) 6.94

o View Text Solution

47. Calculate the mass percent compositon of each of the
substance:

Malachite-a copper containing mineral, Cu(OH),CO3

o View Text Solution



https://dl.doubtnut.com/l/_a8EZYiXhZKR4
https://dl.doubtnut.com/l/_2T9XPFf0s3KL
https://dl.doubtnut.com/l/_wtyXUNq5rBOJ

48. Calculate the mass percent compositon of each of the

substance:

Saccharin, C;Hs NO5S

o View Text Solution

49. Calculate the mass percent compositon of each of the
substance:

Prussian blue, an ink pigment ,Fe4 [Fe(CN)6]3

o View Text Solution

50. Zinc has atomic mass A = 65.39u and has five

naturally occurring istopes: 64Zn,


https://dl.doubtnut.com/l/_wtyXUNq5rBOJ
https://dl.doubtnut.com/l/_8sTkGwfo2wbY
https://dl.doubtnut.com/l/_QLCNEOVKxkjY

48.63 % , 63.929u, 662Zn, 27.90 % : u, %" Zn, 0.62 % , 69.925u.

What is the isotopic mass of % Zn ?

o View Text Solution

Mandatory Exercise Exercise Set lii Olympiad And Ntse Level

Excercises

1. The oxidation number of Pt in [Pt(CoH4C3)| ~ is

A +1
B. +2
C.+3

D. 44


https://dl.doubtnut.com/l/_QLCNEOVKxkjY
https://dl.doubtnut.com/l/_b9O9p1OuxPGN

Answer: B

o View Text Solution

2. The valency of Cr in the complex [CrH20)4Cl2] Tis

Al
B.3
C.5

D.6

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_b9O9p1OuxPGN
https://dl.doubtnut.com/l/_8RV1Kfw2Aecp
https://dl.doubtnut.com/l/_O5S2qSC854sQ

3.In the chemical reaction Cl, + HyS — 2HCI + S, the

oxidation number of suplphur changes from

A.Oto 2

B.2to O

C.—2toO

D.—2to —1

Answer: C

o View Text Solution

4. In which of the following compounds, iron has lowest

oxidation state ?


https://dl.doubtnut.com/l/_O5S2qSC854sQ
https://dl.doubtnut.com/l/_dqhF7zAmwMFP

A. FeCOs
B. K4F€(CN)6
C. FGSO4(NH4)2SO46H20

D. F€20

Answer: A

o View Text Solution

5. Which one of the following pairs of gases contains the

same number of molecules

A.16 g of O3 and 14 g of N,

B.8 g of Oy and 22 g of CO,


https://dl.doubtnut.com/l/_dqhF7zAmwMFP
https://dl.doubtnut.com/l/_19V09n0y9New

C.28 g of Ny and 22 g of CO,

D.32 g of Oy and 32 g of N,

Answer: A

o View Text Solution

6. The number of oxygen atoms in 4.4gofCO5 is approx.

A 1.2 x 10%

B.6 x 10%?

C.6 x 10%

D.12 x 10%

Answer: A


https://dl.doubtnut.com/l/_19V09n0y9New
https://dl.doubtnut.com/l/_lxP7pC12fxQt

° View Text Solution

7. Haemoglobin contains 0.33 % of iron by weight. The
molecular weight of haemoglobin is approximately 67200 .
The number of iron atoms (At wt. of Fe = 56) present in
one molecule of haemoglobin is

A.6

B.1

C.4

D. 2

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_lxP7pC12fxQt
https://dl.doubtnut.com/l/_6RApxSjYElyd

8. The number of gram atoms of oxygen present in 0.3
gram mole of (COOH),. 2H50 is

A. 0.6

B.1.8

C.1.2

D. 3.6

Answer: D

o View Text Solution

9. Which of the following is a tetrabasic acid


https://dl.doubtnut.com/l/_6RApxSjYElyd
https://dl.doubtnut.com/l/_vcZIbzmhQtLx
https://dl.doubtnut.com/l/_nECDKVu1EL7a

A. Orthophosphorus acid

B. orthophosphoric acid

C. Metaphosphoric acid

D. Pyrophosphoric acid

Answer: B

o View Text Solution

10. Which of the following compound is tribasic acid

A. H, PO,

B. Hy PO;

C. H,PO,


https://dl.doubtnut.com/l/_nECDKVu1EL7a
https://dl.doubtnut.com/l/_EmSTXNVeFVKs

D. H,P,0,

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_EmSTXNVeFVKs

